
Math 303: Quiz # L
' Spring 2O2O

Write ),our narne arr<l Stldent ID nr-rmbcr in the space provided below arld sign.

Name, Last Name:
ID Number:

Signature:

o You havt: One hotrr.

. Give details of your response to each problem. You will not be
given any credil, if it is not clear how you have obtained your
responsel 
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1 (10 points) Filrl trll possible values of the real a,ntl inraginarv parts of tan-t(2 - z). Yr-iu are

expected to simplify your response as much as possible'
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2 (15 points) Find all conrplex solutions of the equation cosh(22) - 2cosh(z).
Hirrt: This equation has tr,r,,o rea,i :rncl infiuitely malry solutions.
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3 (10 points) L.t ./ ' lR2 + R2 be the f,,ctio, clcfi,ed b-v ./(r, ,u) :- ar,p de,otes the poi,t (e.2)iu lR2, a,d i a,d .i be the u,it 
'ectors 

alo,g ther r- arrcl u-'oxi" i, JR2, respectively. Firid a rea,lr.rr,bcr a such tha,t the rrirectional de.ir.ative of ./ ,long the vector v ;: i f oj varrishes at p.
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4 (10 poirrts) Use the Tt4,]111 scries expnusion of thc function ./(.r',.ry) : 

= 

alrout the point (1.2)

to aplrroximate it lvith a quarlratic polvnonrial of the form 
ILt tJ

cs t t:1(r - 1) * cz(a - 2) +c3(r - t)2 + c:a(r; - t)(y - 2) + ru(y - 2)r.

Determine the values of the coefficients (:s,(:1.o2,c3, arrd ca of this pcilynouria,l.
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